NOTE :

The deftails 176-184-185-187-188

189-190 constitute n°1 bending shell

183 tommy head M5x20 2
184-185 tommy head M8x55 4
175177 tommy head M8x20 8
175-176 tommy head M8x25 8

175 tommy head M12x40 8

179 nut M12 4

detail type n°piec.

Screw’'s table

ring UNI 7434-8 n°4

added note 08-04-06

ref. note date signature
modifications

182 | 185 |rotary jar
181 | 182 |axis of rotation 190 | 182 | spacer
180 | 185 |rofary jar 189 | 185 | clamp spacer
179 | 181 | tie rod 188 | 182 | tie rod
178 | 181 | handle 187 | 182 | clamp blade
177 | 181 |fork stop block 185 | 182 | clamp blade
176 |185 |clamp blade 184 | 182 | clamp blade
175 | 181 | support base 183 | 182 |clamp blade tip
ref. | araw. added 1egend rof. | araw. odded Isgend

=&

LIGO PROJECT

designed for

R.De Salvo

araw.

G. E}yemmorofPROMEC

qate

LARGE BLADE TOOL

""HAM-OPTICAL BENCH

28-10-05

L1G0-D051180-01-D

scale

1/2.5 A2

&




